
 

 חבור וחיסור בעשרת השניה

לאחר מכן חפשי את התוצאות בטבלה שלמטה  ,פתרי את התרגילים  

                         וצבעי אותן!

                     

                    

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 מה קבלת?________________________
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56 54 57 54 76 23 43 79 56 89 7 

3 14 23 20 19 19 32 19 13 19 3 

34 12 97 10 40 11 26 10 41 2 54 

9 20 68 18 80 65 28 13 61 15 8 

2 31 70 15 17 18 55 18 49 20 34 

22 51 97 66 54 30 40 44 71 83 32 

 בס"ד



 

 

 

13+6= 4+3 13+2= 

19-6= 14-4= 15-4= 

5-4= 16+2= 3+6= 

11+5= 17-5= 8-6= 

2-16 = 13+4= 20-7= 


